J:)quT: YuuTento no npegmeTty

5anaeBa Tamapa dnbLb6pycoBHa, 2024/2025 yyebHbin roa, NUcTtopus

YcnesaemMocTb 0 :
Knacc | lNepuog Y4eHnKoB H/ HeT ggﬁﬁHm ;ﬁ:nes K/oaq. ggl;-l
Otn | Xop | ¥Yg | Heyn A OCB |34 | H3 oLEHKN : ‘| an. (%)

1-1 yeTBepTb | 30 6 18,4950 0|0 00 |50 3,9 100,0 | 70,0 |62,8(

2-9 veTtBepTb | 30 5 181058 0 |0 Qa(E0 10 3,73 96,67 | 60,0 | -68,1¢

5-a 3-a yetBepTb | 30 8 18- 19+ [0 0 |0 0 |0 |0 3,97 100,0 | 70,0 |65,2(
4-51 yerBepThb | 30 0 0 0 (0 0|0 0 |0 (30 0,0 0,0 - -
lon 30 0 0 0 |0 010 0 0-=130 0,0 0,0 - -

1-9 yeTBEpTHL | 29 4 10 |14 |1 0 |0 0O [0 |0 3,59 96,55 |48,28 | 53,7¢

2-51 yeTBEpPTHL | 29 5 9 1510 010 0107 =0 3,66 100,0 |48,28 | 55,72

6a 3-51 yeTBEpPTH | 29 2 10116 |4 010 0010 3,45 96,55 | 41,38 | 49,3¢
4-a yeTBepTb | 29 0 0 0 -0 0|0 010454529 0,0 0,0 - -
loa 29 0 0 0 |0 0|0 0 [0 -29 0,0 0,0 - -

1-11 yeTBepTH | 25 6 9 10 |0 0 1|0 00 -0 3,84 100,0 [60,0 |61,4¢

2-51 yeTBepTb | 24 3 6= 12610 010 002410 3,92 100,0 [ 79,17 | 62,67

66 3-51 yeTBepTH | 26 3 15 |8 |0 0 |0 0 (0 |0 3,81 100,0 | 69,23 | 59,5¢
4-51 yeTBEpPTL | 26 0 0 0 |0 0|0 0026 0,0 0,0 - -
loa 26 0 0 0 |0 010 0 -0 26 0,0 0,0 - -

1-91 yeTBepTH | 28 7 12 1:8="|-1 0 1|0 Q&0 10 3,89 96,43 | 67,86 | 63,2¢

2-9 yeTBepPTL | 28 6 12 |10|0 Q=0 05 0=210 3,86 100,0 |64,29 |61,71

68 3-9 yeTBepThH | 28 6 2=zd- 0 {FS] 0! (655 0 B ) 3,75 96,43 | 64,29 | 60,6¢
4-9 YyeTBeEpPTH | 28 0 0 0 |0 0 |0 0 [0 |28 0,0 0,0 - -
ron 28 0 0 QS0 0|0 0 [0 |28 0,0 0,0 - -

1-9 yeTBepTb | 28 4 15 |9 |0 010 0% F0-+[0 3,82 100,0 | 67,86 | 60,1¢

2-51 YeTBEpPTH | 28 6 12 |10-:0 010 00 10 3,86 100,0 | 64,29 | 61,71

6r 3-51 yeTBepTHL | 28 6 14 |8 |0 010 0 0. |0 3,93 100,0 |71,43|63,71
4-9 yeTBEpPTH | 28 0 0 0 |0 0 (0 0 |0 |28 0,0 0,0 - -
loa 28 0 0 0 |0 0|0 0510 |28 0,0 0,0 - -

1-a yeTBepTb | 27 3 12: |8 |3 110 0 (0 |0 3,44 85,19 | 55,56 | 52,2¢

2-5 yeTBepThb | 27 3 12==111-1:0 1210 e 3,56 96,30 | 55,56 | 54,4¢

6Aa 3-5 YeTBEpPTH | 28 5 9 12 | 2 0 |0 0 |0 |0 3,61 92,86 | 50,0 |55,0(
4-9 yeTBepThb | 28 0 0 0 |0 0|0 05720 28 0,0 0,0 - -
lon 28 0 0 Qa0 010 0 {028 0,0 0,0 - -

9-a 1-a yeTBepTb | 29 6 18- 10 010 0 |0 |0 3,86 100,0° 166,52 61, 7¢

2-51 yeTBepTH | 29 6 14 |9 |0 0 1|0 Q=20 3,90 100,0 |68,97 | 62,7¢

3-51 yeTBepTH | 29 6 16" |:8" |0 0|0 0==[10==0 3,93 100,0 | 72,41 | 63,7-




Fon 29 0 0 0 |0 010 0 =0 =429 0,0 0,0 - -

1-9 yeTBEpPTH | 28 4 16= 18 -0 0|0 0 (1010 3,86 100,0 | 71,43 | 61,1¢

2-9 yeTBepThb | 28 4 18| 0 |0 Q010 31682 96,43 |71,43|60,4°
9-6 3-5 4yeTBepThb | 28 5 1618 10 0 |0 0 [:0-510 3,89 100,0 71,43 62,4:

4-9 yeTBEpTH | 28 0 0 0 |0 0 |0 0 (0O |28 0,0 0,0 - -

Fon 28 0 0 0 |0 0 |0 0= [0 =126 0,0 0,0 - -
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